Ax+1)>+(+1)° =12 A y=—x+1 o thsto] o] 53
TP uAA0] x2 42 tax+by+c=0L W, a+b+c o FH?

O -3 @ -1 ® 0 @ 3 ® 5



HAB, 4) 5 A x—y+2 =009 tiste] ol 5t 2 A gt T
o, A" 9] FEE?

@ (-3, 5) @ (-3, 8) ® (3,2
@ (2, 5) ® (5, 2)



3.

M2 1) &AMy = 20+ 1o dste] BFoIET A
F}?

_;,q_

i1
ar

i



HAQ2 3)= A y=x-10°] s A ol Hof FEE?

@ (3, -2) @ (3, 2) ® (1, 4)
@ (4, 2) ® (4, 1)



A4 3x -2y +6 = 0 o W3to] A P(5, 4) < AL H Q 2
Tobe?

® Q(-1, 2) @ Q(-1, 3) ® Q(-1, 4)
@ Q(-1, 6) ® Q(-1, 8)



o o gt 3 P(x,

I T 5 =
o] o Hl A
z A =AW=
H?

oo £

y=mz

Q)

H48E Qu.y) 2,

PQ o o] A4

y=mx 9o JeBZ,

(7hH=m (1),

T 44

PQ ot A4 y = mx 7} AR
C=2— (h

b, (), (7)ol &fsted

"= T {(1=m?)x+ 2my}

S

=

4

1
y = Tom {me— (1 —m2)y}

© (hy+y s (Dt o, (i
@ (hA Y ot L
® h2EY oh Y (e
® (h2Y e el
® (hIEE h S i



A3, 4)F A x—y+2 =00l tisto] i olset Ha FoHH?

@ (1, 5) @ (2, 5) ® (3, 5)
@ (4, 5) ® (6, 5)



=0

f=3,y-2)

T ORTOH
RN
T mo o
T ER
(an)
o sy
A S
SEET
(]
2Nz Gl Y o
| g o ~ : \ \W
mu‘ oy : /-
h o \v),w /Jw 2
: . . : e o S
J_.m_o _|l IT mﬂ : < o o~ o )
oo S h _ |
) / | |
g = ' | | z
© | | | 5
N qllhl 2’
@ S AN ||_ L_Tuw
= = T
| : /
N\
o
. |
@ |




4y = £(x) ol SHated g (x) = £ (x - 2)+1, ,
h(X)=g( -2zt &, y=h(x) 2 1| y=h(
aefmi 27t o] F4lo] YHolL WA
) Zol7k1 Q1 2] Aolet. of o, ofg /\
Ty=f(x) 9 JHZZ L AL -1 ot
© , @ \
Y Y
—~ 2
| B R
-2 -1 O 7
2 -1 oz
® @
Y Y
212 . T 1 9z
/’\ W\ -
1 [ frenne e :
5 | SO
SR
®




©

ol
N
=2

o
T
!

y=fa—2)-3

yl

Ay = f(x-2)-3°] YeY y=f(z)

-2

O

| y=e-2)-3

Y

@ 23
o2 I\\7
_3 ______ I




rTW
|||||||||| 0
T S
=0 A
= 5
‘ _ oo
Ayo_o. o m =)
S !
M :
= o " e o
O._H__H_O_.._
,IulﬁA
mo]ml_ S
H 2w
e
JY | —=
= N
my =
T LE B
oD ——— o,
o % oF " o
I = B |
ﬁﬂﬂuﬁo "
< o -
TNRT =@ o
=TT o
ﬂoaﬂao
w M A ©
—

x

1-0.8

v

-0.8



o
™ 8o
Mo
o g
aoubnw%m
Eﬂﬁ
L_Luuﬂ
TR
ulxv_wﬂ
x4
=z
~

I = o
-~ B
<R
O ol I
m N R
a

1



A (v, y) 8 (x—a,y-b) 2 %7+ BPolsol st
flx,y) = 0°] Y= =FL2 f(x +a,y+b) = 0 ©]
Uet = TP o2 o] gt
Sl (xy) EA (x-2,y+1) 2 &7]= H3o|Fof 9]s}o]
A (2,-1) 2 4 (0,0) &2 o] 53t
B A (x,y) B (—x—y) 2 2715 diFol 5ol oJste] y =
f(x) ol Y= =2 y = —f(-x) ©] YEFH= =52
2 o]F 3ttt
A A (x,y) B (v, x) 287 Aol &5t f(x,y) =
0 o] et =2 f(y,x) = 0 o] YEt&= o=
o|5git,
O 7,24 @ 7,23 ® 71,4%,4
@ &,%,% ® 75,44



14.

TS & A a2 +y2 +4x—dy+4 = 02 FPol]5ate] AA

BT R

1
®x2+y2:§ @ 242 =1
2
®x2—|—<y—%> Z; @ x2+y*=4

® (x+1)2+(y—1)2:%






16.

HBC:x2+y?+6x-16 = 0= A x—y—8 = 0 of| thol] T o]5st

P& ¢ ofe ok F 91 0,C 1] W A2 P.Q e F o), A2 PQ
of ol ] H%:gke?

@ 1 @ 3 ® 7vV5-12
@ 5 ® 11v2-10



17. o I3 go] B4 ABCD 9 H3H A p

o)A A Ho] BAH D & S0l 1, tano
o] g7 (B, YAZT} WAL et

@% @1 ®

N W

@ 22 ® 2 A



